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Ernest Rutherford was the son of a Scot emigrant to New Zealand. His parents had 12 
children, of whom Ernest was the fourth. His education was in a state primary school from 
which children at the age of 13 could get grants of scholarships to secondary schools and to 
the universities. Rutherford had no intention of following an academic career. He was no 
book-worm. He was good in any rough-and-tumble and a keen football player. But he was 
good at Latin and he had a passion for music and a mechanical bent of mind. At Nelson 
College, a state boarding school, he was an outstanding pupil, he sat for a scholarship to 
Canterbury College and this was because his masters expected it of him and he won it. 
There, Rutherford as a student was fascinated by Hertz’s work on radio waves and he began 
to conduct his own experiments in the cloakroom of the college, where the students hung 
their gowns.



.

. 1. Rutherford was his parent’s ..... child.

(a) last (b) only (c) fourth (d) second



.

2. Nelson College was a

(a) state boarding school In New Zealand

(b) college in England

(c) school in Scotland 

(d) school in the United States



.

. 3. Rutherford sat for a scholarship test because

(a) he was an outstanding student

(b) he was a book-worm

(c) he thought of following an academic career

(d) his masters wanted him to do that



.

. 4. Rutherford carried out his own private experiments in

(a) some corner of the cloakroom of Nelson College

(b) some corner of the cloakroom of Canterbury College

(c) a corner of the room allotted to him in the boarding house

(d) in the laboratory of Nelson College



.

. 5. The phrase ‘mechanical bent’ suggests that Rutherford

(a) was quite mechanical

(b) was devoid of human warmth, emotion, feeling, intelligence 
etc.

(c) did things and lived as thoughtlessly as a machine

(d) had an aptitude for the Science of machinery



.

6. Choose the word which is opposite in meaning to ‘Fascinated’.

(a) Uninterested (b) Hindered 

(c) Enthralled (d) Perturbed



.

7. ‘Rutherford had no intention of following an academic career..’ 

What is the parts of speech of the underlined word?

A. Noun

B. Adjective

C. Adverb

D. Verb 



.

.8. “he was an outstanding pupil…….”The underlined word is:

A. Noun

B. Adjective

C. Adverb

D. Verb 



.
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. One day Nandu rode his horse to the village fair. On his way back he met Somendra, the 
merchant. The merchant was a crafty man, ready to do anything to earn some money. The 
villagers knew this. In fact no one knew what trick he would be up to next. Now, Nandu was 
poor and had no one in the world to call his own except a beautiful, white horse. He loved it 
more than anything else in the world. The merchant had his eye on the horse for a long time 
and tried to think of a way to get it for himself. Seeing Nandu, the merchant thought, "Nandu is 
a simpleton. Let me see if I can trick him out of his horse. "So he said to Nandu. "You live all 
alone. How do you manage? What does a young boy like you need with a horse? Sell it to me 
and I shall make you rich in return." Nandu replied, "No, I don't want to sell my horse." But the 
merchant refused to give up so easily. He offered Nandu more money. Finally, when the offer 
reached five hundred gold coins, Nandu paused and said. "Five hundred gold coins seems like a 
good price.  



.

But I have a condition. If you agree to it, I shall give you my horse. 'What is it?" the merchant 
asked impatiently. "Give me the money right now and 1shall give you my horse when I have 
given you ten lashes," said Nandu. "Is that all?" asked the merchant. He could easily bear ten 
lashes. After all he would resell the horse for over a thousand gold coins in the market. He 
would take twenty lashes for such a gain. He agreed instantly. He ran home and got the money 
for Nandu and brought along his whip as well. Nandu counted the money carefully. He then took 
the whip and the lashes fell on the merchant's back in quick succession. By the eighth lash the 
merchant was almost in tears but he told himself that there were only two lashes to go and the 
horse would be his ! The merchant held his breath waiting for the final lash. But Nandu had 
mounted his horse and was riding off. "Wait!" shouted the merchant in anger. "What about the 
tenth lash? 



.

Where are you going with the horse? We had a deal." 

Nandu stopped and said, "I agreed to give you the horse only after I had 
given you ten lashes. But it is upsetting my horse. I'll give you the last lash 
later. Till then goodbye!"  "Come back you cheat!" the merchant shouted. 
But the crowd that had gathered around agreed with Nandu. A deal was a 
deal. Till the last lash was given the horse could not belong to the 
merchant. Nandu rode away richer by five hundred gold coins and 
Somendra waited in vain for several days for the final lash which never 
came! 



.

1. Why did the merchant offer to buy Nandu’s horse?

(a) He was very fond of horses and Nandu’s horse was a rare 
breed 

(b) It was his way of helping Nandu who was poor

(c) The horse would be useful for carrying goods to the market 

(d) None of the above . 
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. 2. Which of the following is true in the context of the passage?

A. Nandu was an orphan.

B. The merchant was very persevering.

C. The merchant was fonder of Nandu’s horse than Nandu was.

(a) None (b) Only A (c) A and B (d) All of these



.

. 3. Why did Nandu set the condition of giving the merchant ten 
lashes?

(a) To discourage the merchant from buying his horse

(b) To demonstrate how painful a whipping was so that the 
merchant would never hit the horse

(c) To bargain with the merchant to offer more money

(d) To outwit the merchant who was trying to cheat him 



.

. 4. Why did the bystanders take Nandu’s side in the argument?

A. They hoped that Nandu would give them a reward from the 
five hundred gold coins he had earned.

B. They were sure that the merchant would ill treat the horse 
and wanted to prevent that from happening.

C. They knew that and would be miserable without his horse of 
whom he was very fond.

(a) None (b) Only A (c)  A and B (d) Only C



.

. 5. What reason did Nandu cite for not giving the merchant the final 
lash?

(a) He was tired and not in the mood

(b) He realised that the merchant was in great pain and took 
pity on him

(c) He was following the advice of the people around

(d) His horse was distressed by the whipping 



.

. 6. Which of the following can be said about Nandu?

A. He was very cunning. 

B. He needed money. 

C. He was cruel to people but loved animals.

(a) Only A (b) A and B (c) B and C (d) All of these 



.

. . By the eighth lash the merchant was almost in tears but he told himself
that there were only two ……….

7. The underlined word is…….

A. Relative pronoun

B. Reflexive pronoun

C. Interrogative pronoun

D. Objective pronoun
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. Nandu rode away richer by five hundred gold coins and Somendra
waited in vain for several days for the final lash which never came! 

8.  The underlined part is…….

A. Principal clause

B. Noun clause

C. Adjective clause

D. Adverbial clause 



.
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. That

Why/which/what/when/where/who/how…….

27



.
. ………….…..Who/that/which….

If/though/although/unless/when/because/ since/as/ while/

28
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Comprehensible input is language input that can be understood by listeners despite 
them not understanding all the words and structures in it. ... According to Krashen's
theory of language acquisition, giving learners this kind of input helps them acquire 
language naturally, rather than learn it consciously.
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In education, scaffolding refers to a variety of instructional techniques 
used to move students progressively toward stronger understanding and, 
ultimately, greater independence in the learning process.
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